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TNPSC GROUP I MAIN - 2021
MANDATORY TEST XXI
CURRENT AFFAIRS Il & APTITUDE AND MENTAL ABILITY
(RATIO AND PROPORTION, MENSURATION AND [INFORMATION TECHNOLOGY)

Time: 3 hours Total marks: 250

SECTION A 10 x 10 =100

Answer all the questions. Answer not exceeding 150 words each

What is meant by Treaty on the Prohibition of Nuclear Weapons (TPNW)? What are its
salient features? What is India’s stand on Treaty on the Prohibition of Nuclear Weapons
(TPNW)?

Ol US55 L @UUBSD (TPNW) eaipmed eramen? SIsal (poHdll SIDFHIG6T 6T6Tenn? Sigml
QWSS ML @LLbBBHHe0 (TPNW) @pguimaler [mHenso ereirer?

Write a short note on Regional Comprehensive Economic Partnership (RCEP) 2020. What
are the factors that prompted India’s Exit from the Regional Comprehensive Economic
Partnership (RCEP)?

Mympgw elfleumer Qumrpenmamy umisefiy (RCEP) 2020 usy @ fApiediy eengs. Lgmbul
alifleurenr  QumpenmmaTy  LMseTINmha (RCEP) @pgswr  GCeuelGumps smewngul  &yemniaer
wIreneu?

What is the Theme and Agenda of the Fifteenth G20 leader’s Summit, 2020. Highlight on its
declaration adopted in its summit at Riyadh, 2020.

G-20 sameveuiseaie UFHwanbdHTough o FFompTh 2020-BeT mWGS(hHS WLBEBID BEFF BiFed
aadier? 2020 opb et fwunshHed BOLOUBB b o FHTHTLIYE  gBBISCETeTeTIILLL
MrsLeid GBisHH FBLILDBMET 6I(1LDHALD.

Enumerate the key take away of India - Bangladesh virtual summit 2020.
@hHwr - aumsbahs Guibet o FAwTpTG 2020-eT (PEHHU DbFmISmen auflensFlILBSHSIS.

Examine the objectives and Impact of National Supercomputing Mission in India.
@hgwraled Chdw Wsbsemlal OCFwLHLLSHe (BHAw @GUuT Sawiel Quibsd) CrTHemisel
LBEID SHTHHHMSH DYTTUIS.

Write a brief note on
FpeBiiy euemys

a) Cyclone Amphan 5M
(a) Cy p

SIIDLIGOT  L|UI6D
b) Cyclone Nisarga 5M
(b) Cy g

FTHT LJUI6D
) 4
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7. What are the objectives of National Fisheries Policy 2020? Highlight its major challenges.
Gxpdlw Ifeiteuend  Gameitend  2020-Qeir  CHTHBEIBET 6l DIHE  (LPHEH W FEUTEOHENEI
1B SHBIMT 5.

8. Write a brief note on the Aims and objectives of Climate Ambition Summit 2020.
&TeubHleney el o FHwommprh 2020-Ba1 evdbGHHeT BBId Chrhsmser GH¥HEH FniGnliy
UM .

9. Answer the following questions.
eteud aflevmdbsend@ allenl wierfl.
a. The shadow of a pole with the height of 8 m is ém. If the shadow of another pole
measured at the same time is 30 m, find the height of the pole?

8 5 men(psiien sbuGHHer BHlpeder Benb 6 5. 916 GCBIHFHev, 30 15 HIpsd gHBLBSHHID
LBEBT(H SOUSHET HeD 66666y ?

b. Convert to base 5.
624,23 QHSHIQYLOTET 6T6MWIGNITES  LOTBHI.

10. The barrel of a fountain-pen cylindrical in shape, is 7 cm long and 5 mm in diameter. A full
barrel of ink in the pen will be used for writing 330 words on an average. How many words

can be written using a bottle of ink containing one fourth of a litre?

7 Q&5 pengpeen @J o (hewel algel e  GBeweuuler el 5 WS SuELb. amLD
(D(PEMLDWLITHEGTEN 2 (hewenenwld OBmemi®  Fyraflume 330  eumJHMmSS6NT  61(LSHEVMLD. (hH
lLfled pIaTdled @ UG e @b UTLIgelled o 6Tengl 6ele0, SiHemell UWLGSHD)
T5HSHME  AUTTSHENSHSH6IT  61(LDSH6VTLD?

SECTION - B 10 x 15 =150
Answer all the questions. Answer not exceeding 250 words each

11. Critically analyse the impact of Basic Exchange and Cooperation Agreement (BECA) signed
between India and USA. How does India benefit from it?
AhFHwralB@n CWfsaETalBGD L ulsd mBOWIWSHLLILLL DiglitienL  LifleuisHHemner LOBH3ID
s3Il uubssHear (BECA) sréssbms aloigea FHums ugGlumuie] QFuis. @& cpsold
@bHWIT eTeleuTs LiuleTenL &mgI?

12. Describe the important Provision of Citizenship (Amendment) Act 2019. List out the major
concerns and loopholes of the Act.

GlWflend aupmIBeD (HHHHD) FULID 2019-6i1 (PHFHWHHIMHmSH alauflds. QFFU LD GBHS
Lp&Femende LOBBID GmBUTBHmeT LI 19uIedHb.

13. Discuss the usage of Tamil language computing in various domains of internet application

and Information Technology.
@emewil  UWUTH  WLBDID  HHeued  OFTfleomi ubHer LeLCum  Henmmibelled SO  Gomfl
sl S@SBIWTSSSHH T Lweum®d uppl alleursos.

14. Explain Block chain Technology. What are the salient features of Draft National Strategy on
Block Chain? Highlight Ministry of Electronics and Information Technology initiatives on
Block Chain Technology.

Wemmds  gmigled QHTPOBIL LUSHMSH alend@GHs. Lentd Oguler GChdw alus euemgele (Wl
SIbgmiseT  wreweu? enmd  Gauller  Campeomi usbdHen 1pmer  aialam  LOBBID  HBH6U6D
OaTHOHIL L HIMFFHHH G (LPTEeBLILS6T @BNISHS Fpliysenet alleufldbs.
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16.

17.

18.

19.

. What do you understand by Carbon Tax? Analyse the impact and challenges of Carbon Tax

on India.
smiuat aufl GBlHH o misengl LfiHev eleienr? bHWT BHTer &riuet euflullet SHTéHsd  BmID
FOUTELHMGT LIS,

What is meant by Quadrilateral Security Dialogue (QUAD) Group? What was the major
outcome of the First Summit of the Quadrilateral Security Dialogue (QUAD)? How does
India’s engagement in Quadrilateral Security Dialogue (QUAD) support it as a Regional
Power in Asia?

BIBay urgismiy urgismiy Cuisamisemsd (QUAD) @uw eempmed eaien? BrBsy UTSHISTLIL
urgismiy  GBuseaumigsemguiar (QUAD) waed o &4 ompmlger (WpoHdw  alenene] — eleier?
QUAD-@e0 @pHwralar  rEUTG opfwreled o, Imhdu Fe&Hutes oSms  aeleurs
23fSSmSI?

Discuss different types of cybercrimes in operation. Highlight on the measures required to

be undertaken to fight the menace.
BOL (pempulled 2 aiTen LevGeupl auemSWITET waFLT GBBRISMmeT UBnB aleumdlds. HHFSHDBISHHMeL
adisbaI Gurgm. Geuemiigul BL6UYHMBH6T GBS alleuflhs.

“Reforms in the United Nation are necessary in order to strengthen its effectiveness,
legitimacy and Relevance as a multilateral organization”. Discuss.

“UeOaTUILL L. SIMWLILUTES DIHeT OFWEOSHB6T, HWTUSSHEMD OBDILD CUIHSSHHMS auMIILBGSHS
WESHW BTHH6T FemLUled FTHHSHIMIS6T Seudwid” - alleuTdlshs.

Answer the following questions.
eiTeu(pld allenmdhd6Ihdh@E alenl 6.

a. The adjacent sides of a parallelogram measures 34 m, 20 m and the measure of one of
the diagonal is 42 m. Find the area of parallelogram.

R BOmIEIHIHa DbSHBHH UbsmGeNr oSlemayder 3415, 2015 LOBBID DS QM
cpemevall L GFHler Sjeniey 42 15 elefled DihH BemenIBTHHe LIFLIenLIDH HT6lb.

b. The volume of a cylindrical water tank is litres. If the diameter of the tank is 7 m, find

its height.
QH 2 _(HWeT algel SHewieniy BT Quile Her Slee] 6ILLT @D ST guiesr il L 7
0 6TalleD, SIHGI 2 WJLD ST,

20. Answer the following questions.

21 Pane

LeTeuhlD aeTehdHEhdhE alenL W6l

a. A ground is in the form of a circle whose diameter is 350 m. An athlete makes 4
revolutions. Find the distance covered by the athlete.
@ alenuwm BsH Hreo, 350 B el LSHHILT dnlgul UL  6Ugeled o 6iTengl. @F
PULLUBSW  afff, SSHLMev BTG (PedB B  umHSBTT  eeled, U] BLbHS
CpTenevenedh HEMTSHD (HB.

b. If the total surface area of a cone of radius 7 cm is 704 cm?, then find its slant height.

704 F.05.15 QrHeL yBLUgly CaTewiL @@ dnibllear Qb 7 0F.15 elefled, OIHeT FTujurd
BTGNS,

c. Convert to base 10
40324, el LSBIQLOTET 6CIGWINTTES  LOTBHI.
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